7 %1 SHERIZEDRERININGE IRFED)
(1 6FED)

17FED)

051 8EMA = 09,7690EMGIAEE251EME. 2.6%)

« IR

16FED)
98.2%(90.2%)

(17 FED)
= 982%(90.0%) XIFIFELL +0%(0.2%iF))

X( ) ADHIEL. S@EINICHRDININER (BB THD,

- AR DT O 0% DIRIREL 3 9 RIRE (RRIRBICEHDIEIEIE 2.3%)

8 MERIEERETOBIINR

(1 6FEFXRIBE) (1 7TEEXKIRT) (AIEE EDLEER)
BUSRREUT\2REE 1,9201RE5 1,401 1258 519REE
(£REELCA0AES) (85%) (83%) (2%i@)
AW rE 2,021EM 1,663EM 358EME
(CMEIEERESICEIISE
2 LUTNWDIREEDOEIS)Y
| Tl TEEXRRE |
(L) HBHTEEEETOSEMIAR
| 6¢JE5EIET£) (1 7TEEXRIRTE) GFEIFEEEOLEE)
S1E58 597EH 7941EH 108EMIE
EHEE&E%8 183EH — 264EHM S81EMIB
S{I%ER 414EH 531EM8 117EMIE




